I RER- AL REE-FALLHHEDRELER

(

B uSv/h)

No JAlER X4 %4 B [mEOT] FE =i
1 18168 AHRREREREI/LY[ 006 - - -
2 18168 [k =15 0.07 - 0.06 -
3 18168 5 EERBM 0.06 0.06 0.06 -
4 18168 % KIRRE R 0.06 0.06 0.06 -
5 18168 Hh KEARE R 0.05 0.05 0.05 -
6 18178 R BEEREM 0.06 0.07 0.06 -
7 18168 TEFHE 0.06 - 0.06 -
8 18168 HARBM 0.04 0.06 - -
9 18178 EIELE 0.08 - 0.08 -
10| 1A10H A KB EEFR 0.05 0.06 0.05 -
11 18108 b4 BEINRER 0.05 - 0.06 -
12 1A78 ih XIRERT 0.07 0.06 0.06 -
13| 1A10H X —RRERM 0.05 0.07 - 0.06
14 | 1A14H BIIRER 0.07 0.07 0.06 -
15| 18148 A LARE 0.06 0.06 0.05 0.06
16 | 18148 3] LEHEE 0.06 0.06 0.06 -
17| 1814H ih BIRHEER 0.06 0.05 - 0.06
18| 1H14H X FMFEER 0.07 0.06 0.07 0.06
19| 18148 BEXEERM 0.07 0.07 0.06 0.06

20| 1H10H W HREFHEB 0.07 0.07 - -

21 18108 ok 4 4 FE = 0.07 - 0.07 0.06

22 1H7H JtE SHERM 0.07 0.06 0.06 0.06

23 1H7H HIIRE R 0.07 0.06 0.07 0.08

24 1H6H 4R HEMRES 0.08 B B -

BT (BT uSv/h)
N n 1m

No. AER X4 i B TmELT| EE =
1 182780 AHERREREIILY[ 0.06 - - -
2 18278 [k =15 0.06 - 0.07 -
3 182780 5 EEREBM 0.06 0.06 0.06 -
4 182780 % KIRRE R 0.06 0.05 0.06 -
5 182780 Hh KEARE R 0.05 0.04 0.05 -
6 14308 R BEREM 0.07 0.06 0.06 -
7 182780 TEFHE 0.07 - 0.06 -
8 182780 HARBM 0.04 0.06 - -
9 14288 EIELE 0.08 - 0.07 -
10| 1A21H | KB EEFR 0.06 0.06 0.06 -
11 18218 b4 BEINRER 0.06 - 0.06 -
12| 18208 h KRB P 0.06 0.05 0.06 -
13| 1H21H X —RRERM 0.05 0.07 - 0.06
14 | 1H23H BIIRER 0.07 0.07 0.07 -
15| 1H23H A LARE 0.06 0.06 0.06 0.06
16 | 1H23H 3] LEHEE 0.07 0.06 0.05 -
17| 1A23H ih RIRHEER 0.06 0.06 - 0.07
18| 1H23H X FMFEER 0.06 0.07 0.07 0.06
19| 1H27H BEXEERM 0.06 0.07 0.06 0.06
20| 1H21H W HREFHEB 0.07 0.07 - -
21 18218 ok 4 4 #E = 0.07 - 0.07 0.07
22 1H20H Lt SHERT 0.07 0.06 0.07 0.06
23 | 1H20H H)IRE P 0.06 0.06 0.08 0.07
24| 1H22H 4R HEMRES 0.08 B B -
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